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I 3% mwn: status of 127p if 0T was placed in the incorrect location (for 7”111) - in all these cases, 9109 but there is no n13
a  If: he placed the o7 on the ramp (v15) away from the o
b Or: placed b7 that is to be put above the ®1jp>on VIn below (or vice-versa)
¢ Or:placed o7 that is to go inside the wTpn on the outer nam (or vice-versa)
I  Dispute "2w1/9R10W as to extent of the %109 in these cases
a  Ynnw: only the meat is 908 (may not be eaten), but the 1277 is valid and counts for the n*»ya’s obligation
i Source: v. 1 —as long as 07 goes on the narn, there is N19>
1 Challenge: if so, it should be fully valid (even meat)
(a) Answer: 793 (v. 1) — but not for other consequences
ii  Inference: Y®mMw maintains that 07 placed in the incorrect location is considered to have been placed in correct one
1 Challenge: 2:3 onar — if 071 was placed (per all of our examples) — Yap» 9wan M’ (and then do proper 177Mr)
(a) And if: mpna MpNa RHYY — no need for this
(i) And cannot be: for purposes of permitting the meat to be eaten
(if) Reason: we don’t allow a new 1”nt just for that purpose
2 Answer: in this case, a 904 (e.g. 118 ,71) did nYap (hence “Yap» 9wan MNY”)
(a) Challenge: if so, 129p should be considered “rejected” (»»n7) as if 105 had done 77771 in the right place
(b) Explanation: R:3 nnar stipulates that if 7'nap was done by a 509 with ympn/mnty pin nawvnn,
(i) Then: if there is any wa1n 07 left, a 9w should redo n%ap
(if) Inference: this will only work if the n»ap was done in this manner, not 711 — assumedly, due to "n7
1. Correction: reason that 7”071 is no longer an option is due to n51va nawvnn
2. Challenge: then it should apply to n%ap
3. Furthermore: 811 - 508 nawnn is only meaningful by proper person, item and location
(iii) Rather: proper inference — only works if nbap is done in this manner — excluding nomw
1. Challenge: if this teaches that %04 can have meaningful Y02 nawnn at no'nw — already taught (x:2)
2. Answer: R:3 teaches that from n%ap onward, 108 nawnn isn’t meaningful (if %09 is acting) - per 811
3 Challenge: if he intended to put 7 in wrong place today — 9w3; subsequent 111/AMPRY YIN NAWVNN counts >0
(a) But if: he intended to put o7 in wrong place tomorrow — 909; subsequent ...pyn nawnn invalid->% w4 (only)
(i) Explanation: if ymypn3 ympna Row (per YR1nW) — this last case should be Y15 (intent for tomorrow)
(ii) Defense (¥701 74): only 1771 which could allow meat to be eaten could lead to %wa —per v. 2
1. Challenge (»wn "): then it shouldn’t be %109 at all
2. Answer (»7237): still an invalid 07 nawnn, per N1 '7’s approach to Mn nawnn (1:3)
b 57w itis fully %09; ‘tho he also rules that 1mpna 1MpHa RHYY —
i Resolution: if he placed it w/o saying anything — valid (193n); if he had Y129 nawnn — not 1950
1 Continuation: per above 11, following same challenges and conclusion ("217’s solution, following nmin ")
¢ v itis fully 900 and both cases are npnwa and T 1PN IRY IMPNI ROV
i Resolution: if there is enough o7 left to complete process, he may do so; if not, no solution
d  Challenge (to all 3): why, after intent to put n7 in wrong place, does Y1 nawnn lead to n13 12 PRy H109?
i To 5. clear; as the intent wouldn’t invalidate j27p
it~ To yam» 77 challenge — misleading, as that first intent would have invalidated j27p (already 2"ary 5109) - WP
iii To Sx1p¥. challenge, as he must interpret nwn as having put o7 w/o 111 yin nawnn — why is it 11oa?
1 Answer: means — and if he added ynt% yin nanwn, it would be 2”ary 9109 (per X701 10’s explanation)
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e Challenge to parmp> /7. if YmpNa RY 1PN YW — consider 0T put in wrong place as *72n 10 79w1 — and he can (re-)collect it
i Answer: 37y "7 holds that our ®in follows approach of 11908 8% — may not be re-collected
1 »7 all agree that if o7 were put in proper place incorrectly (e.g. Y8nw1) — cannot do new 70
(a) Disagreement: if T were put in improper place (up/down, in/out) — *ov "1 — no re-do; v"1 — redo
(i) And: our mwn follows o 1
2 ax. all agree that even if o7 were placed down instead of up (and 1"p up instead of down, as it ends up
“down” anyway) that the nam already “captured” it and no new 1”171 is possible
(a) Disagreement: infout; Y01 "1 permits a re-np’1, w1 does not allow
3 Support (»7217): for 13y '7’s position (and m’ar’s) — dispute N> 1 vs. w1 inre: v. 3
(a) A7 77 A%vn RN NRT - 3 pown, excluding the following from remaining on narm (177 — 9y OR):
(i) Slaughtered at night; if the blood was spilt (before n%ap) and if the o7 went out of its precinct
(b) w™: nnyn nn extends to include the above, plus 15, ®xv, 8NV, if it was slaughtered with intent of yin
NN1Y or IMpnY Y, or if po1oa did nbap or np»t, or if the blood was put in the incorrect locus (up/down,
in/out) or nrkom noa that were slaughtered jnw% X5w — all of these, if put on nam, remain there
(i) Per: n5wn n1n — one rule for all na1p that have been brought “up”
(ii) However: this does not extend to Y271/yay, Tap/nxpin, NN INR/193 1NN, 1917 RX/NDM0/DIRDI
1. Justifying distinction: 1% list has their %09 in the wp; 2" list were 0108 beforehand
(iii) Point: w™'s list includes 07T placed in wrong locus and nT7 "1 doesn’t disagree
1. Implication: the nam already “absorbed” the b7 (successfully)-> 1908’ XY (cannot do another 7”n11)
OI  ary’HR 7 — the inner nam (2t nam) also “absorbs” D904
a  Question: what is he teaching? mn»1a (above) all mention “in/out”, which includes n%n o7 going on a0 nam
i Answer: from our mn»13, we would only know that 07 is 0292 V91 (since there is D291 DT NTY);
1 But: we wouldn’t know that ymyp (which never goes inside) would remain up, inside
2 Challenge: a foreign nmvop that goes on narm should go down
(a) Reason: only the outer nam sanctifies that which is (generally) fit for it
(i) Inference: but the inner nam doesn’t “absorb” anything put errantly
(if) Incorrect: proper inference — but outer nam only “accepts” that which is otherwise fit — not nmop
(iii) But: inner nam — accepts both that which is fit and that which isn’t fit
(iv) Reason: outer nam is considered like nax7; inner nam is a N7 *93 (more “powerful”)
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